g/ d N°®

Ratio to ATLAS

P2 Ipb/GeV]

d K

=
<
I

[HEN
o
R

=
o
G

0.5

13000 GeV pp tt
L I B N I %
— 3
— ttHT (ATLAS semileptonic ttbar) — 3
- 1=
~ m ATLAS s
— --=-- Pythia 6.428 359 N
~ —A— Pythia 6.428 370 BE
- Pythia 6.428 a 15
---%-- Pythia 6.428 dw Yo
—— —m— Pythig,6.428 po -
— - Pythia 6.428 pro-g2o0 .
B 5
™
— s
(40)
©
o
I — ™M
— —1 <
— =2
— X
_ s
<
. 1S
c
= - @
Q
)
L _|5
— —
— 12
| —l | | | | | | | | | | | | | ,| | | [ = -
:l T T T T | T T T T | T T T T | T T T T |:
— -2
1
I e - ] 05
¥,,
| " 1 " 1 1 1 " | " 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

H* [GeV], N 2 7



	Contents
	Page 1


